October 16, 2014

How can you tell from a table, a graph and an equation
if a relation is linear or nonlinear?
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Determine whether the following relationships are partial

or direct.
a) y=-8x+0 b) y=5x+10
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Identify if the following relationships are linear or non-
linear and explain how you know.
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Determine the slope and y-intercept of the following line.
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Determine the x- and y-intercept of the following line
and use this information to graph the line.

a) 2x + 7y = 21 U
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Maximus Pizza sells their slices of Cheese pizza for $2, plus

$0.50 for each additional topping.

a) Write an expression that represents the cost (C) of a
slice of pizza in terms of the number of foppings (n).

C= 2+ 05n

C= cost & pl2a slice
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b) Create a table of values which shows the cost of a slice
of pizza with 0-5 toppings, then use this to graph the

relationship. C
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c) Identify the slope and y-intercept from your graph.

Slope <= 9,5
)’—m%orccp%: b=2_

C= D5n+
= 0513

X + b
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Homework Review Questions

p. 147 # Baq, 8a, 10, 15 (just equation)

p. 151 #1, read over p. 161 and p. 183 #2a
p. 157 #7, 13

p. 170 #5, 6 and p. 183 #6

p. 184 #9
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